
YARN
Rowan Finest

3	 x 50gm
(photographed in Sterling 001)

NEEDLES
1 pair 2¾mm (no 12) (US 2) needles
1 pair 3¼mm (no 10) (US 3) needles

BEADS - 304 beads (no. 563) by Debbie 
Abraham (size 8).

TENSION 
28 sts and 36 rows to 10 cm measured over patt 
using 3¼mm (US 3) needles. 

FINISHED SIZE
Completed scarf is approx 15 cm (6 in) wide and 
approx 177 cm (69½ in) long.

 with sewing thread. Knot ends of thread and then 
pass end of yarn through this loop. Thread a bead 
onto sewing thread and then gently slide it along 
and onto knitting yarn. Continue in this way until 
required number of beads are on yarn. 

SCARF
Thread 304 beads onto yarn.
Using 2¾mm (US 2) needles cast on 42 sts.
Noting that first row is a WS row, work in g st for 
3 rows, ending with RS facing for next row.
Change to 3¼mm (US 3) needles.
Now work in patt as folls:
Row 1 (RS): Knit.
Row 2 and every foll alt row to row 20: K2, 
P to last 2 sts, K2.
Row 3: K12, yfwd, sl 1, K1, psso, K15, yfwd, sl 1,
K1, psso, K11.
Row 5: K10, K2tog, yfwd, K1, yfwd, sl 1, K1, psso, 
K12, K2tog, yfwd, K1, yfwd, sl 1, K1, psso, K10.
Row 7: K9, K2tog, yfwd, K1, bead 1, K1, yfwd, 
sl 1, K1, psso, K10, K2tog, yfwd, K1, bead 1, K1, 
yfwd, sl 1, K1, psso, K9.
Row 9: *K8, K2tog, yfwd, (K1, bead 1) twice, K1, 
yfwd, sl 1, K1, psso, rep from * once more, K8.
Row 11: K7, K2tog, yfwd, (K1, bead 1) 3 times, 
K1, yfwd, sl 1, K1, psso, K6, K2tog, yfwd, (K1, 
bead 1) 3 times, K1, yfwd, sl 1, K1, psso, K7.
Row 13: K6, K2tog, yfwd, K1, bead 1, K2, yfwd, 
sl 1, K1, psso, K1, bead 1, K1, yfwd, sl 1, K1, psso, 
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